
MATH 100
Exam 1

1. (13 points) Answer the following questions.

a. (5 pOint~) I the following inequality true or false? 5~ ~ 9 ~
6 3

TRUE FALSE

If false, what is the true inequality?

5t L q~

Kristin Lui

~\ L '2.~ 'L
{o - tI_3 '2..

'3\ ~ S~
~-lP \J)

b. (4 points) Which x is the solution to the equation? 7x + 1 = lOx - 29

x=2 x=5 Cx=®

f'X:=.1.. 1-C"l..) +\ ': \0('1") ~ L~
\S -:::.'Z..D -l.'\
\S -::..-q FA\.-~e.

-x ~ S '1-l?\+ \ -= H)(S",) -2q
~S4- \ -::..SO -'2..~

~~ ~ 2 I A4~<S""

,)(-_ ~c :f-t'o)4- \ -::. 'cOo) -'Z..o,.

"1-~ -=- loo - .2.~

Page 12

c. (4 points) Is the following equation true or false? -1(-5)·(-2)+(-27)1=-17
If false, ~ the true equation?

~ FALSE

'?

- \ \ 0 + (-21-)\ ;:" - \1-

\ -lq\ ~ -\':t-

- \ 1- - - \'1-
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2. (10 points) Simplify each expression.

(-5)-(3)-1a. (4 points) -
8-4(-2)

-\s - \
'if - (-8)

- -\1.0 -\10 ~SJ- - -~t'8 - \\9

b. (6 points) (22)(3)+ 1(-4)+ (-2)(3)1
(6)(3)+( -7)

C'1)l'?) -\- \ -L\ ~ (-1.0")\

\ <g -\ (-':\-1

\ L -\- \ - '0\
\ \

\ 'L. +\0

\ \
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3. (15 paints) Answer the following problem.

a. (4 points) Write the word phrase as an algebraic expression.

The sum of -12 and the quotient of 49 and -7.

y~-\'2- -\-
-1

b. (3 points) Simplify your answer in part (a)

-\'2.. +

-- -\2- -\- -1-

c. (3points) Does the word phrase represent the following equation?

If four times a number is added to 7, the result is five less than six times the number.

4x + 7 = 6x - 5
NO

d. (5 points) Solve the equation from part (c) for x.

L\)< -+ 1- ~ ~~ -S
'-L\'K -4~

'+ -- ~)( - 5

12.. ~ 2.;x.

~
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4. (15 points) Solve the following equations.

a. (6 points) 3(6x - 7) = 18x - 12

\ ~X - 2\ ~ \gx -\1.-

-2\ -=-\L
FALfE'

~ cs, vto s,o\ ~ O'Y\.

b. (9 points) -w + 3(w - 7) = -4(w + 4) + 7

-w + 3w -ru - - 4VJ -/<0 +7

ZW -'21 - LfUJ - q
+tJw ttfw

(p.w ." "2-1 - -q
-r l-t T Z (
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5. (12 points) Solve the proportions.
m m-2a. (6 points) - = -
5 2

2VV\ -::. S (W\ -"2-")

?XV\ -= 5m -\ 0

-'Sm -:::-\ 0

6y-4 11b. (6 points) -- = -
Y 5

'S( CD ~ - tf) -:::.\\'j

,c)~ - 70 -::.Hj

-CD ': -\q~
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6. (10 points) On a road map, 6 inches represents 50 miles. How many inches would represent
125 miles?

50x - Col\'2.s)

SOX -=- 1 <; 0

'¥;o--5U

7. (10 points) Solve the inequality and graph the solution set.

-5 ~ (3x - 8) < 6

·-s L 3)( -- 25 t-(o

-rfr ..f~ +8'

'3 c: 3")( ~ 1'-/--- 3- 33

J
L. )< t- Jj

:3

A- -E-i!iIiiiiii~-==-=i~~

\ '.1
3
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8. (15 points) Solve the problem.

2 1 5 1
-y--y = --y+-3 . 4 12 2

tt·z.. - 3'~ --:=. - C)~ + <0

<2; - '3'j -:: -?~ +~

L'j "\8 -::.t.c

~~ -'L

. ~ -- -\~

Extra Credit {' X
(10 points) Find the measure of an angle whose supplement measures 6 degrees more
than 7 times its complement.

x+-1-("'o-X}+\o :::\~O
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